
 Model 83S-XR 
PailPRO Pail Handler, Extended Reach 

morsedrum.com   Serial Number 405230 to Current 

 
 

Copyright – Morse Mfg. Co., Inc. 16 April 2025 Page 1 

 

 

https://morsedrum.com/


 Model 83S-XR 
PailPRO Pail Handler, Extended Reach 

morsedrum.com   Serial Number 405230 to Current 

 
 

Copyright – Morse Mfg. Co., Inc. 16 April 2025 Page 2 

 

ITEM QTY. PART NUMBER DESCRIPTION 
1 1 6672-P MAST WELD, 83 
2 6 3981-P NUT, 3/8-16 NYLON LOCK 
3 2 3789-P CASTER, 3" SWIVEL, STEM, 83 
4 2 3921-P NUT, 3/8-16 ACORN 
5 2 3885-P WHEEL, 4 X 1-1/2, 83 
6 5 1166-P WASHER, 3/8 USS 1" OD, ZINC 
7 4 1315-P HHCS, 3/8-16 X 2-3/4 GR2 
8 1 3930-P KIT, COUNTERWEIGHT, 83 CW PAIR 
9 1 3790-P BASE WELD, 83 

10 1 4358-P HANDLE WELD, 83 
11 2 136-P GRIP, HANDLE 7/8" X 4-3/4" 
12 1 4381-P HHCS, 3/8-16 X 3-1/2 GR5 
13 3 193-P SCREW, TEK, 12-14 X 3/4 3 PT 
14 1 5685-P COVER, WINCH, 83 
15 1 5063-P WINCH, 83, 0411- 
16 1 3802-P 1/8" WIRE CABLE CPT, 83 
17 4 1035-P COLLAR, 1/2" ID 
18 1 3911-P SHEAVE, MID, 1-1/2 STEEL, 83 
19 4 3461-P E CLIP, 1/2" 
20 2 6614-P PIN, GROOVE, 1/2 X 2.520" 
21 1 3798-P SHEAVE, 3" POLY, 83 
22 1 82-P HHCS, 3/8-16 X 2-1/4 GR2 
23 1 1169-P NUT, 3/8-16 REV HEX LOCK 
24 1 6814-P YOKE ASM, 83 
25 1 6815-P TROLLEY ASM, 83 
26 1 4365-P WIRE CABLE CPT, 1/8", 83 
27 1 6778-P MOUNT BRACKET, FLOOR LOCK 83 
28 4 3923-P NUT, 1/4-20 WHIZ LOCK 
29 4 1714-P HHCS, 1/4-20 X 3/4 GR2 
30 4 1866-P WASHER, 1/4 USS 3/4 OD 
31 2 4002-P NUT, 3/8-16 WHIZ LOCK 
32 1 6790-P FLOOR LOCK, STEP DOWN 4.94" 

 

https://morsedrum.com/

